Volume Past Paper Questions
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1. A storage container for sheep food is the shape of a cylinder and has the following dimensions. 

Calculate the volume of the storage container.






2. [image: C:\Users\cbrow\AppData\Local\Temp\a47c15c9-e34b-45cb-a25f-b93708600a42.png] A swimming pool is a prism with dimensions shown below. Calculate the volume of the swimming pool. Give your answer in litres.
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1. The Victorians used stoneware hot water bottles. They were semi-circular prisms as shown. The diameter of the bottle is 14cm and the length is 30cm. Calculate the volume of the hot water bottle.
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1. Regulations state that a 10m high diving platform must be
· 6m in length
· 3m in width
· 0.25m deep at front edge and 0.5m at the back edge

The diagrams shows one such platform

Will 7m³ of concrete be enough to build the platform? Explain your answer.
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1. Robbie has a tub for his pencils. It is in the shape of a pencil as shown.
It consists of a cylinder with a cone on top.

Show that the volume of the tub is 408π cm³.
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1. Brendan makes candles in the shape of a cylinder with a cone on top as shown.

He buys blue wax in blocks of volume 12000 cm³.

Brendan thinks he can make 25 candles from one block of wax. 

Is he correct? Justify your answer.
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+* Strategy/process: substitute into
the cylinder formula

+* Process: calculate volume

o Venx19x97

« 110-009..m*





image9.png
Strategy: know how to find the
volume

evidence of composite volume
Process: calculate the volume of |+ eg 8x0-5x 16=64
one part

Process: calculate volume of 7 eg Ix12x15x8+64=136
remaining part(s) and add 2

Process: convert to litres 136100 x 100 x 100/1000
=136000
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Ans: 2309 cm’ or 2309 ml or
23091

«' Strategy: know how to
calculate the volume of half a
cylinder

«Strategy: substitute into
formula

 Process: calculate the volume
and state units

o evidence
1 2

o2 —xxT %30
2

7 2309-07...cm?

Alternative Strategy:

« ' Strategy: know to calculate the
area of the semi-circle and
‘multiply it by 30

o2 Strategy: substitute into semi-
circle formula

 Process: calculate the volume
and state units.

o evidence

1
2

o —xaxT?
2

3 76-96...x30=2309-07...cm*
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Ans: no supported by working

«'Strategy: knows how to find | ' evidence
compound volume

o7 Strategy: substitute into “Venx35x35x12
cylinder formula

«? Process: find volume of 7 461-8 (or 461-58)
cylinder

o Strategy: substitute into cone | e* Vie L x3.5x3.5x4
formula 3

«° Process: find volume of cone | e® 513

¢ Process: find the number of «€461-8 +51:3= 5131,
candles that can be made 12000 + 513-1 = 23-38

« Communication: valid 7 no he can’t make 25 candles
conclusion
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Ans: Yes as 7>6:75 4

«' Strategy: attempt to calculate " evidence of cuboid + prism or
the volume of a prism Ah
«2 Process: set up calculation 023x6x25+ % x6x025x3
or (%4 % 6% 0:25 + 6 x 0:25) x3
«* Process: calculate volume + 6:75m
«* Communication: state +* Yes as 72675

conclusion
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Ans: Proof

'Strategy: know to add
volumes of cone and cylinder

+?Strategy: correct
substitution into cylinder
formula

+* Strategy: correct
substitution into cone
formula

«*Process: simplify expressions
and add to obtain 408

" evidence
o 7x6"x10

o daxeixa
3

%3607+ 487 = 4087
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Volume of a cylinder: V' =mr?h

Volume of a prism: V' =4h

Volume of a cone: V' = 3nr h

Volume of a sphere: 7 = 3 4
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